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DELHI PUBLIC SCHOOL, CHANDIGARH

Summative Assessment-Il, Session 2012-13
Class : VIII, Subject : Social Science (Sample Paper)

Time : 3 hours MM : 90
Attempt all questions. Write neatly. Marks will be deducted for untidy work.
Section — A (History)
Q.1 Choose the correct option: (1x3=3)
(1) ‘English education has enslaved us.” Who said these words?
(a) Jawaharlal Nehru (b) Rabindranath Tagore
(c) Motilal Nehru (d) Mahatma Gandhi
(i)  Brahmo Samaj was founded by
(a) Gandhiji (b) Raja Rammohun Roy
(c) Periyar (d) I.C.Vidyasagar
(iii) was established in December 1885.
(a) Indian National Congress (b) Poona Sarvajanik Sabha
(c) Madras Mahajan Sabha (d) Bhartiya Janata Party
Q.2 Give answer in one or two sentences: (1x6=16)
(a) Who was William Adam?
(b) Which was the famous slogan raised by Tilak?
(c) Who is a linguist?
(d) Who started the Temple Entry Movement?
(e) Where and by whom was Santiniketan established?
(f) When was the Arms Act passed?
Q.3 Give reasons: (2x5=10)
(a) Indian system education was flexible.
(b) In India people were divided along lines of caste.
(c) During the 19th century girls were denied education.
(c) Moderates dominated the first phase of Congress.
(d) Begum Rokeya Sakhawat Hossain is a reformer.
(e) The Congress split in 1907.
Q.4  Write a note on the following : (3x3=9)
(a) Dandi March
(b) Wood’s Despatch
(c) Temple Entry Movement
Q.5 Define: (1x5=5)
(a) Madrasa
(b) Vernacular
(c) Sati
(d) Repeal
(e) Publicist
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Q.6  On the political map of India mark the following : (1x2=2)
(a) First Session of Congress was held here.
(b) Kheda.
Section — B (Civics)
Q.7  Choose the correct option : (1x4=4)
(1) is presided over by the Chief Justice of India.
(a) Supreme Court (b) District Court
(c) High Court (d) Tehsil Court
(i)  Punjab and Haryana share a common High Court at
(a) Chandigarh (b) Ambala
(c) Assam (d) Amritsar
(i)  The is like an umpire in a game.
(a) Judge (b) Public Prosecutor
(c) Police (d) Defence Lawyer
(iv)  Midday meal scheme was introduced because of
(a) Fundamental Duties (b) PIL
(c) Fundamental Rights (d) Directive Principles of State Policy
Q.8 Give reasons/Justify the statements : (3x3=9)
(a) Every citizen is guaranteed a fair trial by the Constitution.
(b) PIL increases the access to justice.
(c) Public Prosecutor represents the interests of the state.
Q.9 Answer the following questions : (3x2=6)
(a) What is the role of Judiciary?
(c) What is the structure of courts in India?
(d) List the Fundamental Rights guaranteed under Article 22.
Q.10 Define: (1)
(a) Eviction
Section -C (Geography)
Q.11 Choose the correct option. (1x4=4)
i) Country which has no known mineral deposit in it.
a) Sweden b) Switzerland
c) France d) Norway
i) Which one of the following is a leading producer of copper in the world?
a) Bolivia b) Chile
c) Ghana d) Zimbabwe
iii) Which one is the largest lake among the great lakes of USA?
a) Superior b) Huron
c) Ontario d) Michigan
iv) is an example of co-operative sector industries.
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a) Maruti Udhyog b) Anand Milk Union Limited
c) Steel Authority of India Limited d) Hindustan Aeronautics Limited
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Q.12 Fill in the blanks. (1x4=4)

a) Industrial disaster occurred in Bhopal on .

b) The of Dhaka, Chintzes of Masulipatnam and Gold-Wrought
cotton pieces of Burhanpur were known worldwide for their quality and
design.

C) Harnessing of energy causes noise pollution.

d) A diamond is the rarest diamond.

Q.13 Answer the following questions in one word or in one sentence.

a) Define the following terms (1x2=2)
i) Smelting
i) Mining

b) Name the two regions of India which is rich in natural gas. (1)

C) What is the full form of 1SRO? (2)

Q.14 Answer the following questions in brief. (2x5=10)

a) What is the difference between metallic and non-metallic minerals?

b) Why environmental aspect must be carefully looked into before building huge
dams?

C) Why is there a need for using non-conventional sources of energy?

d) What is the difference between agro based industries and mineral based
industries?

e) What are the similarities between information technology industries in
Bangalore and California?

Q.15 Answer the following questions in detail. (3x3=9)

a) Explain the factors responsible for establishment of steel plants in
Jamshedpur.

b) Suggest some risk reduction measures involved in industrial disaster.

C) What is Hydel power? What are its advantages and disadvantages?

Q.16 On The outline map of the world locate the following. (1x4=4)

a) Bokaro b) Mumbai high c) Kalpakkam d) Jamshedpur

DOWNLOADED FROM WWW.STUDIESTODAY.COM DOWNLOADED FROM WWW.STUDIESTODAY.COM



	DELHI PUBLIC SCHOOL, CHANDIGARH

